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235 U

235 143 91
5, Utn — 7, Xe+;Sr+2n

M,=1.0087amu , M (% U)=235.043%amu , M('sXe)=142.9273 amu

M (2Sr) = 90.9102 amu

lamu-c® =931.5MeV
MeV
235 %

AM AE

AE = AM - ¢?
=[M, + M (*3U) - M (‘5 Xe) =M (5Sr)—2x M ]-¢?
=[1.0087 + 235.0439 —142.9273 —-90.9102 — 2 x1.0087]amu - ¢2

=0.1977 amu - c¢?
=184 MeV

AM =[M, +M (%5U) - M (‘5 Xe) - M (5S1) —2x M, ]
=[1.0087 + 235.0439-142.9273—-90.9102 — 2x1.0087]amu
=0.1977 amu

AM 0.1977amu
X 100 = x100
M, +M(5U) [1.0087 + 235.0439]amu

~ 0,083 %(= ——)
1200




